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六级阅读 第一套  

选词填空 

首 句 ： Small communities,with their distinctive character—

where life is stable and intensely human—are disappearing. 

26.O vanished    27.M undergone 

28.D expanding    29.K survived 

30.H process    31.L terminals 

32.E industrialized   33.F perceived 

34.B convenience   35.G practice 

 

匹配题     标题：Are we in an innovation Lull？ 

36.D 37.K 38.B 39.L 40.F 41.A 42.H 43.E 44.I 45.C 

 

传统阅读 

PASSAGE 1 

46 A it is unfair to those climate-vulnerable nations. 

47 C They hardly pay anything for the problems they have 

caused. 

48 C They have to bear consequences they are not responsible 

for. 

49 B There is no final agreement on where it will come from. 

50 D Putting in effect the policies in the agreement at once. 
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PASSAGE 2 

51 C) Teenagers’ mental problems are often too conspicuous 

not to be observed. 

52 D Many hitherto unobserved youngsters may have 

psychological problems. 

53 B Their behaviors do not constitute a warning signal. 

54 A They are almost as liable to depression as high-risk 

group. 

55 B It provides new warning-signals for identifying teens in 

trouble. 

 


